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3. (X*— 3x + 4)(2x - 3)

XZ3x 44
2Xx-3

For #5-6, state the end behavior.
5. f(x)= x"4-3x"+6x-4
/r As x>+, f(x)>_1- &<
As x>, f(x)>_1~ =

Factor:
T 2X3 -2x=0
2
2x(x"-1) =0
Do'f'%e rence of squares

2% (x+1)(x-1) =0
9. x*-169=0
Ditterence of squares

(x+18)(x -13) =0
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Semester Two Review

2. -t gl g+ 1 -

TS = bx =/

4. (x5+ 6x* + 3x% + 27X + 64) + (X + 6)

Xté =0

/4 03 2744 il %

¢ b=t 06 42 -54 x=-6
/0

Ix T3 +9+ X+4
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6. f(x)= - X +3x-4
As xD+w, f(x)> —S<

As x>-=, f(x)>_F o

Pa,&/ OW;'*/t& 8. 5x°—5x—-30=0
G CrH

S5(xt-x-6) =0
5(x-2)+2)=0

106( "59‘6’“190 gc%rrfz/fw
x*(x-5)+ 2(x-5)F0 T0)

(x*t3 (x-—{) =0
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Graph: (X?“ ?—)(x -'23 (X‘f 3)

1. f(x) = x® +3x% - 4x-12

Zeros: "’2 ’ L ’ -—-3 (-—\-hjau car) S€C
ese on The YCLPA,

Factored Form: (x+2)(=2)(x+3) Us . wjgu' l ccov
e o ’
y-intercept:(bj-’- 12,) Dlet x=0 d

Local Max: (_, 2.6 gJ /, /3)
Local Min: (00 6-2»9/ /3, /)

End Behavior:
As @+, f(x)eD T =
As X - », f(x)5p_— ==
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12. Convert the following to radian angle measures; leave your answer in terms

of r, simplify all fractions. Same @S in ‘C/ ey re.w‘eu)
a. 270°



— = ))2.5°

14.Use the equation below to answer the following questions.
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a. Determine the amplitude of the function. How is it related to the equation? If/}

R=0 < ‘40 Z own
Ly X=0 b. Determine the period of the function. How is it related to the equation?
| o> g e graph s d-cj\z.ob
X ""277‘ c. Determine the midline of the unctgn. I-ﬁw is it related to the equation?
& P ﬁi d. Finé thé«"ddi"hain orthe function.
X / : (- o= g oo_)

2
— e. Find the rangé of the function.
gir [ ) 5 j

e
f. Graph at Ieast/Z cycles of the functior{.
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Los™x+ SIN“X 2] e fany < cosx > Quad %
15. Find sinx and tanx if cosx = %3 and angle x is in quadrant IV.
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17. Make a box and whisker graph to represent the data:

{14,5,3,13,7,9,9,2,16,7,7, 16, 19, 20}
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18. Use the graph to find the mean, median, and mode.
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(F)+20a) 4303 H0128) | 905 2 9 45

B 9 10 11

"5('30)4— b (159+FS) T klj hest bar
7 (120) + 9 (2z5)+i(2500+ = 703
'[?-75) ={301D “This wouwld be

13 =(7207 m bar 8.
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19. Use normal distribution to solve. The price of a gallon of gas at 75 gas stations has
a mean of $2.05 and a standard deviation of 4 cents. What percent of gas stations sell a
gallon of gas for less than $1.97? How many gas stations sell a gallon of gas for less

than $1.97?
Mean
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g 340 34,4
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-38D -2SD -1SD 2,06 +1SD +28D +3SD
¢ ] Oo . 30.
5 240.) L% a1 241 201 2.8 24%

= 2.89, Sell §as for less ‘than 117,
@oo 23)(16) 7 |, P15 => Feuwerthan 9 stuhons

20 Use the table below to calculate probability. Sc_ﬂ ja,s / @ss
9’ /1/9%,

P(brown) = QZ;} P(male and green) = _722-
P(female or blue) = w 9t p(greylmale)= & =~ 5
67 - ib? 32 =% /41
P(blue or green) = P(female and grey) =
22435 G F o
——— g, 163

leF ~ IbF



21. Graph the function: f(x) = 2logsx -1.

Abscos verric craru
Al
0= 2 lus 3 4 7’(
+1 E—4
_L:': Z Iag X
Aot scussivwscivaccrnicinn vavaves THROM 8 WA B
Domaln( 2 > Range: (_,_0" Asymptote X=0 x-intercept: (7 32‘_’39'/2_ ;E_';_x
+ Vs _
x-> €2  asf(x)-> + infinity x> O as f(x) ->- infinity 3" =X
22. Solve: 34%_1=20 /Bfogg3x+2)=1_q__
o+ J°3 S
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